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Instructions for the candidales!
1. wmrll s v ae ek o d) ooe 7
Candidales arg required lo give thelr anawata in thelt owi wortld aa lar a8 practivable
2 qfh ale @) w R gu syl (AR avi &1
Elgurea in tha right hand mamin indicale ol marky,
3 g g ux o} caagde wan) B I 15 a2 or SRR I 9 A
15 Minutes of oxira thme has baen allotiod for the cadidates lo mad the tpealionss aalehily,
4 ug ny1-uy q) el N & w@uy - 97 V7 @NF - |
This quostion papor ia divided into two seclions - Beclion- A axi Seolton - f1.
5wy -4 40 avgfre wrr & it et siftal 81 g B I o 1R &), gent v
gusar ) 1) OMR - wire wxw A ) u) vl gt i) o),/ War v Y
Al ot e @ EgE /et yanl/ &8,/ ik ot wav YRawr WAV Wy

sr & or=rer v QR STy ek

in Section - A, thera ara 40 objeclive typo quostions which ara compilory, anth oArrying 1 mark, Darken
tho circlo with bluarblack ball pen agains! the correcl option on OMR Anawar Sheal provitied to yoil,
Do not use Whitenar/Liquid/Blade/Nail elc. on OMR Sheol; otherwise the reauit will be Invalid,
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T Ry 2 W 6 U (.80 Q13) & Ky © % 2 ww) o e 2

Wy @ ST 3 TS Qs to Q.18) & K W B 2 ) a7 g @

¥ 3 57 5 097 (0.21 10 Q.25) & K ¥ Rl 3 ved) ar e

ST W97 3 57 4 vy Q2810 @.31) & Rt @ ¥ 2 woat a7 e @

9 SN &7 ww g ¥ S wv (0.6, 0.7,0.4, 0,15 @ 19, Q.20, 0.26 and Q.27) 3%
BALEE S FECY SN i R, sk ©F et @ a-ga
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In Section - B, thers are 23 short answer type questions of 5 subjects under Social Sclence (each
Qamying 2 marks) as below:

History has 5 questions (a.1 to Q.5). out of which any 3 questions are to be answered

Political Science has 6 questions (Q.8 to Q.13), out of which any 2 questions are to be answered.
Economics has 3 questions (Q.16 to Q.18), out of which any 2 questions are to be answered.
Geography has 5 questions {(Q.21 to 0..:?5}. out of which any 3 questions are to be answered.
Disaster Management has 4 questions (Q.28 1o Q.31), out of which any 2 questions are to be answered.
Apart from this, there are 8 Long Answer Type questions (Q.6, Q.7, Q.14, Q.15, Q.19, Q.20, Q.26 and
Q.27). Each carrying 4 marks. Out of eight questions answer 4 éefeding one each from History, Political

Science, Economics and Geography.
ﬁﬂﬁmasﬁaﬁﬁw Sy BT FAPT Qo afdra &1

Use of z;ny electronic appliances is strictly prohibited.
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g —3[/ SECTION-A

R w1 /Objective Type Questions
e Mwey Ry 10 & frm ¥ v wd &1 I

(40X 1=40)

YT ST 1 W 40 TE B qelw wvd a awel
Zrr g 1y ) Awew B oMR - de W RFET wR
ane is correet. You have to mark, your selected

Question No. 1 to 40 have four options, out of which only
(40 x1=40)

option, on the OMR - Sheet.

History, Geagraphy, Political Science, Economics and Disaster Management.

Lo RN @l RIS B ar?

A\ AR B3  Nac
(©) R gme@ () A

Who was the founder of “Young Europe™

(\) Mazzini (B) Garibaldi

(D) Mussolini

(C) Victor Emmanucl
2. R w A 6w S or?
(A)  gail B) gl
€ ¥ (D) W™
Who was the *Sick man of Europe™
(A) Turkey (B) Italy
(C) England (D) France
3. o wed @ S BE g AT
(A) B)  Fwis
(8 i (D) qrers

Where was Karl Marx bomn?
(B) England

(D) Polund

(A) Gernmany
(C) France
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4. mﬁﬁwmmﬁwmﬁﬂ?
:z: ::: (B} 1900
In Which year dj - H 1916
: id Gandhi ji establish the Sabarmati Ashram?
@) 1895 (B) 19500
- © 1915 (D) 1916
S A WA BRI R A
(\) o TR T (B) TR W
©  Reer (D) PO RAE
Who founded the Brahmo Samaj?
(A) Raja Ram Mohan Roy (B) Dayanand Saraswati
(o) Vivekananda (D) Ramakrishna Paramhansa
6. JFA Ty @ ARAER fFay fFa ar
A wRTe (B) oW ERfE
(C) AW D @E®
Who invented safety lamp?
(A) Crompton (B) James Hargreaves
(C) Humphry Davy (D) John K
7. sikrirg sfve wred @ e e 3 14
(A) ' 1917 (B) 1919
(C) 1921 (D) 1923'
In which year the Intemational Labour Organization was cs::;bll:hed?
w P
(C) 1921

8. mﬁ:ﬁaﬂ?maﬁuﬂmwm?
e T B R

B) & - T @ @
D) TNTAT W

© -
-1t Golghar in Patna was- -
The purpose (0 bull:t | jiers (8)  Tokeep the Arms and ammunitions
the so
(A) To keep D) To worship

(C) To keep gra.il'ls

Page 4 of 16
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Y.

10.

1l

12.

13.

Wi 4 3REER MR dn i gar?

(RYRE 1 (1)
(<) g (D)
In which country the invention of paper took place?
(A) China (B)
(C) Jupun (D)
Rgwam Ry &1 yerm e s fsar?

(A) o g (B)
(&) AEod B (D)
Who started the publication of the *Hindustan Review'?
(A) Ramakrishna Varma (B)
(C) Mazharul Haque (D)
Feh Rred) sugw @ -

(A) wuw @ fag (B)
() M3 (D)
Black soil is suitable for -

(A) Cotton ) (B)
(C) Wheat (D)
waifrs aut & 2 -

(A) it # (B)
() - sfa# D)
Highest rainfall occurs in - '

(A) Purnia (B)
(©) Kochi (D)
el g=rgT o & —

(A) R (B)
(C) dfar 3R o 21 | (D)
Brass is made of -

(A)  Copper (B)
(C)  Copperand Zinc (D)

A
EiL)

Germany

Rome
A w1 fds
wfeaere o=

Sri Krishna Singh
Sachidanand Sinha

o @ fog
e & forg
Litchi

Millet

e 3
ARfERE |

Cherrapunji

Mawsynram

oW 4
dfa ST R e |

Zinc
Copper, Zinc and Tin

211 A
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14, wﬁﬁﬁ?ﬁ

“ %“:‘m e R s
© Fregn (B) o
Which of these js ®)
A N ot the primay, energy”? :
alural gag (B) Petroleum
©  Electricity @) Coal
15. R g &
(A) a3 fore | B) e & fog
© BT B fayg ) N FwRl @ f
Nepanagar s famous for. *
(A) Suvgar (B) Cemient
(€ News pring paper (D)  Cotton textiles
16. <@ e difes T H S 22
A)  wefEge B) oéN
€). f=fEp @) @&
Pulse is the source of which nutrition?
(A) Carbohydrate (B) Protein
(©) . ViaminD D)  Fa
17, ﬁqﬁé{%ﬁﬁ%ﬁhmmqﬁwaﬂmﬁa?ﬁé?
(A) I a= (B) ¥he
© 9 - D) e
Which industry in not based on agriculture?
(A) Cotton cloth (B)  Cement
(C)  Sugar @)  Jue
18. T ¥ ¥ W wed @ vy ot 2
@) e s - 2 ®) o ey
(C) IRt S - 5 (D) ot Ty - 7
Which among these is the longest National Highway?
(A)  Highway no.2 _ (B) Highway no,
(C)  Highwayno.5 © " Highway ng 5

1A Page 6 of 1§ \



19.

20‘

21.

22.

AR F GO T T0TE ¢ -

CYI B) o

(C)  aom (D)  ®ieen

The biggest port of India is - '

(A) Mumbai (B)  Chennai

(C)  Kolkata (D)  Kandla

7<R & fow R & Rea 82

A) R (B) AR

(© T ' D) T

Mandar Hill is situated in which district?

(A) Munger (B) Bhagalpur

(€) Banka (D) Buxar

16 & ANea ¥ qRken v B FEA fFa 87

(A) 61 (B) 63

(C) 65 D) 67

How many women members are in the 16" Lok Sabha?

(A) 61 (B) 63

(C) 65 (D) 67

FRGS N9 FT TS $d §IT A7

(A) 1 {99 2000 (B) 8 -} 2000

(C) 15 9%} 2000 (D) 15 AqHER 2001
When was Jharkhand state formed - ‘ ’

(A) 1 November 2000 (B) 9 November 2000
(C) 15 November 2000 © (D). 15 November 2001
1977 A ST @ AR ¥ 5 <@ B W ag e

A)  FREA A 9 (B)  wan Ui

(€ ARdE U i 0 IRdE FYPRE Il
Which party got a clear majority in the 1977 Lok Sabha election?

(A) Bhartiya Janta Party (B) Janta Party

(%) Bhartiya Rashtriya _Congress (D) Bhartiya Communist Party

. [21 1] A ‘ Page 7 of .16
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(A) 1885 .- (B) 1890
©) 1895 (D) 1900
When was the Indian Nationa} Congress established? -

(A) 1885 (B) 1%
© 1895 (D) 1900

25. Wil A w1 T g of P

(A) 2012 (B) 2013
(C© 2014 D) 2015
In which year the election of the 16® Lok Sabha was held?

(A) 2012 ' (B) 2013
© 2014 D 2015

26. M FAA B WAF DA B 27

(A) um : (B) WU
€ = M EE=R
Who is the head of the village kutchery?

-(A) Panch {(B)  Sarpanch
©) Pramukh (D)  Justice friend

. 27, ARd o Wil @1 g R R
A) & (B) T WG

(© e B gd ® T
What is the election symbol of the Bhartiya Janta party?

@A) Hand paw (B) Lotus flower

- (C)  Marigold (D)  Whel

LRHJA e



M, ST
l] ll'l 1'” ‘l"llll i TIL 1“‘ i ¢,, |rllf Wit [ j ¥ g _I*iff"‘f." ¥

T
\) iy i Al Ao

(' .
(LN HRH |o(h iy i afin

"Dy ,
ULH TS DR T Pyl Dok e oo el iy i 'u-nph-" Wihitpe dutsjpasd g thiie!
l"' (\H'l'li“u

i Livenjir Hnahibnight g
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() Abidion | vadl

i F el By pes
b, ¥ |
l’l I “‘i'ld Il”l" f '”il' lh "'IH f|':” ” l,ll”f'l'ﬂ U”f

(A) fay

i) HEjo !

iy A

iy g
IH" ' I '" 'lhl“‘l 'll ll”'l“l Wil ||" il ,' i 'ﬁ]fll h wliile “f l",”"f
IA) Wil

(') Mathi st

i Majsisthiin
i) it

A L[ P T I T CT T Wt dl ) dptof [ omig 4 mi fnstiy §iedl b Veare desins 5 AR

e
(A) 100 TRl b LAy ) 1o Vi) Ty
() pe0 1841 1o () AL ALY

Undder NIRECA, whint is the proviston of sinimim minber of thys o) enppryimient for gl latnness
i w year!

(A) Vor HH) duys () For 125 days

(C) Vor 150 doys (n) Vo 20K) days
M, e i ahorer siehen wi et w1 a4

(A) 16 #1050 () 16 (tesay 194

() 16 SIGAL 1961 M) e Qg bt

Whert the Plaming Commission was estublished in India?
(A) |5 March 1951) (1) 15 September 1950
(C) 15 October 1951 {m None of these
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32, mﬂﬁmﬁwwg?

33.

35.

A)" 14 B) 19
(9] 20 (D) 27

How many Nationalized banks are there in India?

(CYR¥ B 19

(©) 20 ) 27

TS TRER ¥ G qjremdeh spbed € -

@A) W P I B) A g g3W
© A gE D) A TS I
Bangladeshi economist honoured with Nobel Prize is- :

(A) Prof. Igbal Yunus _ | (B) Md. Igbal Yunus
(€)  Prof. Md. Yunus | (D) M. Shafik Yunus
4§t S W U ® -

(A) LG B) A

(C) I D). ¥ { &l

What are the key components of human capital?

(A) Knowledge (B) Skill

(C) Experience (D) All of these

ARA - ERHR A G B AR AR T3 R &=

(A) 2004 (B) 2005

(C) 2006 D) 2007
When the governaent of India passed the ‘Right to Information Act’?
A 2004 B) 2005

(€ 2006 @) 2007

o Page 10 of 16
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@vg —q/ SECTION-B

ﬂ-\'-ﬂ?tﬁﬁna T¥d /Non - Oblective Type Questions

oY STy _wyd/ Short Answer Type Questions

gftgri / History

e vragy ?)5WWW§1W§#M3M$W

FwiRer &/
Question No, 1 1o 5 iy short answer type. Answer any 3 questions. Each question carries 2
(3x2=6)

marks,
(2)

2w @ o 2 &
(ax2=5)

b 30953 %l N amy 3o ey @2
What do you meun by October Revolution?

2. R 3Esr s @ g qRom gon?
What was the result of the Civi) Disobedience Movement?

3w g Og & 54 @ aRoif @1 oo R
Describe any two causes of the First World War.

)/ farm 9auR @ wsa &2 @
What is world market?

5. gl T 87 T am S 8 @
What is manuscript? What is its utility? |

&ref Iy ¥¥1 / Long Answer Type Questions

)

2

T w6 Ji 7 & gl me #1 § 9 1 v @1 e @ (4x1=4)
Questions No. 6 and 7 are Long Answer Type questions. Answer any one of the
Jollowing. . (dx1=4)

6. Afm @ e 74 STaRnl W wET I | “@
Throw light on the life and achievements of Lenin,

7. ey i A frimanat & Rl | . @

Write the characteristics of the Indian press.

Page 12 of 16
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XY fasr / Political Science

mW&#ﬁ‘ Wmmgfﬁ#ﬁ#2waﬁﬁ?fl_m§,ﬁ?2ﬁ
P & ' (=)
Question

marks.

No. 810 13 is shors answer type. Answer any 2 questions. Each question carries 2
(2x2=4)

y O 1 wieefea &< & forg ama @ar A7

What will you doto promote communal harmony?

What are the main objectives of Chipko Movement?
%mﬁua\maﬁﬁ?ﬂmmﬁmmaﬁl
Dexcribe four problems of Indian Democracy.
1 _1/ Pty T R oed
What is secular state?
12. |wadl ﬁ’tﬁimn 8?
What is concurrent list?
13, TR Tet B wEmd T B < e

Suggest two measures to make political parties more effective.

ad 59 ¥/ Long Answer Type Questions

ma‘aaruaf??rsaﬁaﬁﬂwm{fﬁf#ﬁ?#waraﬁ?a’; (ax1=4)

Questions No. 14 and 15 are Long Answer Type questions. Answer any oneé of the
(Ix1=4)

Jollowing.
4, SR & R Frol 3 fad |
Write any four causes of Communalism.

‘Lsrnmmaaia%ngamm|

Write main functions of Political Parties.

)

(4)

[211]A Page 130f 16



iy / Economice -

e S 18 3 10 3. i e 1 g @ ot 2 7O
3 PR &) 2=y
Question No. 16 10 18 is short answer type. Answer any 2 questions. Each question cqrdes
2 marks, (2x2=4)
'f‘,.m IR HE T oy wew @7 @
X\ Whatis the importance of economic infrastructure?
}/Wﬁfﬁ A AN T Y § @
~ What do you mean by cooperative?
13, STTRIT @ WY B B - I | e T : @)
" What are the different ways by which consumers get exploited?
<el S e / Long Answer Type Questions
.mmma’?mWBﬂﬂﬂmﬂﬁ##ﬁﬂﬂWWWﬂ- (4x1=4)

Questions No. 19 and 20 are Long Answer Type questions. Answer any one of the

Jollowing. (xt=t

19, fER & anffe Rodwa & 71 RO & | _ @
" What are the reasons for economic backwardness of Bihar? . o

. deir 3 RER W W AW o

> Explain the effects of globalization on Bihar.

[21 1] A ' Page 14 of 16



wrﬁmﬁmw‘fm%?

Tﬁ_‘g / Geography

W W& 21 & 25 77 awdy w7 &) g0 @ e 3 vl @ O 3 ande @ v 2
o Rl &1 (2=t
Question No. 21 to 25 is short answer type. Answer any 3 questions. Each question carries
2 marks, : (3x2=6)

}A@ﬁmmwm:ﬁwﬂ (2)

Why is the preservation of natural resources necessary?

(2)

Why is Maharashtra famous for the production of cotton?

/zsrmmasrmmaﬁaﬁmwﬁe? Q)

24.

25.

26.

Why is petroleum more important than coal?

Serl A gy 48 P 7 . @
How does pollution spread from industries? '

ARa @ fIY Femnt @ T HEd 87 | 2

What is the importance of water ways for India?

A 9adu w¥/Long Answer Type Questions
mmmmzzlﬂﬁmm?fsﬁ#wwwmﬁ (ax1=4)

Questions No. 26 and 27 are Long Answer Type questions. Answer any one of the
' (dx1=4)

Jollowing. .
iR W @ — TE @ w31 A B (4)

Describe the effects of mining activity on the economy.

27, wRdYa ¥d wRae i Rl @ i W | 4)
f/ Describe the characteristics of Indian Rail Transport.
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AIET ueuH / Disaster Management

. : BRT2
- WFT WET 28 @ 31 aymmg,ﬁﬁwzwﬁﬂﬂ??fw

=4)
. S PR &) (2=

~rclh quiestion carries
Question No. 28 to 31 is short answer type. Answer any 2 questions. Each q

' (2x2=4)
2 marks.

(2)
28, JMYST [ G T FHIQ E?

What do you mean by Disaster?

(2)
29, T W E A wh  Re A

Discuss the damages caused by flood.
' . (2
}ww%ma%ﬁ?%’iz’rmlﬁfﬁaﬁmﬁ'l .

Mention any two measures for safety from, earthquake.

Wﬁm%wﬁfiﬂac—eﬂuﬁl' . (2)

Mention the measure for safcty from Tsunami.
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